'Hawa [e8eY 40 H

Fitting for top-running wooden doors up to 40 kg (88 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall mounting.

Product highlights \/

&Tﬁ Flexibility Multi-faceted product range, same parts for —
wooden and glass solutions \\]
M Productivity No door processing, continuous adjustment for
minimal production times
Technical specifications ]
[ Max. 40 kg (88 Ibs.)
w Max. 2200 mm (7'2 5/8")
&2 Max. 1000 mm (3'3 3/8") /\
»He 18-30 mm (23/32" to 1 3/16") /
!
Installation examples
36 47
153 1
|7 28 3 39 39
" 3n " W "
045 | & 045 | R 1%
4=\ = \[HE: b e e
! 1 e T ol ol °
ol E 5] = & 3
L — o
N Eeo 171‘ N Eeo 2 2
16 % %
04 x45 +?2 0 4x45 +?2
ir - 80 1
H32 +3z
7 1 (12#* 7] 1
9 3 15uk] 9 3
2 272
ol 10 (6% _21 | _o5_| Go*
Aach Sk 2 313k * 24 20 73 20 20 73 20 24 *
B 1 E & w2 () N T o P pin o e N
-y —| 16 32 8 32 32 8 32 16 =y
2% 2 NES ~_03 03 NN
E= :ﬁ I E= :ﬁ I
EF EF
50
1§
8@ - S - - __ 4
o [ ~lop ped
5 ‘ 1) 16 é
e \_035x20 (AT D 03,5x%20
15 32
19 11
32 '

128 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Set for wall mounting,
for 1 wooden door up to 40 kg (88 Ibs.)

'Hawa [e55Y 40 H

Set for wall mounting,
for 1 wooden door up to 40 kg (88 Ibs.)

No. No.
Hawa Porta 40 H, for 1 door 057.3168.071 Hawa Porta 40 H, for 1 door, incl. soft close
and tracks, L= 2000 mm (6' 6 3/4") 057.3168.072
~
S N
;@ No. S
™ 3 No.
- 5 5
Set consisting of: o mm N
Set consisting of: (inch) o
Running gear, =
plain bearings, 2 | 057.3149.071 Soft close, up to 40 kg
rollers, plastic, white (88 Ibs.), running gear 2 | 057.3158.073
premounted
Stopper, plastic, gray 2 | 057.3148.071 .
S_topper with release > | 057.3151.071
piece to soft close
Hexagon screw,
% M5x18 mm (3/16"x23/32"), 2 | 600.0000.646 Hexagon screw,
steel, zinc-plated % M5x18 mm (3/16"x23/32"), 2 |1 600.0000.646
steel, zinc-plated
2\ Prevailing torque, M5,
@‘) steel, zinc-plated 2| 600.0000.459 ) Prevailing torque, M5,
steel, zinc-plated 2 | 600.0000.459
Support bracket,
i . 2 | 057.3165.101
steel, zinc-plated Suppor.t bracket, 5 | 057.3165.101
steel, zinc-plated
Countersunk head screw,
S.%E% 4x45 mm (5/32"x1 25/32"), 8 | 600.0000.727 Countersunk head screw,
steel, zinc-plated %@{% 4x45 mm (5/32"x1 25/32"), 8 | 600.0000.727
steel, zinc-plated
Bottom guide, left
. ’ ’ 1| 057.3167.072 A .
plastic, gray ‘u\é Bottqm guide, left, 1| 057.3167.072
plastic, gray
Bgtst;)i? grua:de, ront 1 | 057.3167.071 Bottom guide, right
plastic, gray guide, rignt, 1 | 057.3167.071

Countersunk head screw,
3.5x20 mm (5/32"x25/32"),
steel, zinc-plated

600.0000.728

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

plastic, gray

Countersunk head screw,
3.5x20 mm (5/32"x25/32"),
steel, zinc-plated

600.0000.728

Cover cap, left,
plastic, anthracite

053.3192.001

Cover cap, right,
plastic, anthracite

053.3192.002

Track cleaner, plastic, red

040.3142.071

Running track,

aluminum, 2,000 |4 | 457 3146.200

anodized, (6'63/4")

pre-drilled

Clip-on panel,

aluminum, 2,000 1 1 053.3195.200
B (6'63/4")

anodized

129



'Hawa [e55Y 40 H

Running tracks

Panel end component set, 47 mm (1 27/32"), aluminum

mm No.
(inch) No. ..
Panel end component set, 47 mm (1 27/32"), 057.3107.081
6,000 aluminum, left ’ ’
Running track 057.3146.600
" . di (te'8 732" Panel end component set, 47 mm (1 27/32")
aluminum, anodized, : ‘ ) ’ 057.3107.082
pre-drilled CU.T to 057.3146.990 aluminum, right
size
6,000 -~ | o
Running track, (198 7132 057.3146.602 8 8
aluminum, stainless 55 No.
steel look, pre-drilled | CUt10 | noony/s 990 55
size B
Set consisting of: o|o
Panels Panel end component,
mm 47 mm (1 27/32"), left, 1 057.3107.077
(inch) No. aluminum, anodized
6,000 ..’ Bracker connector, 1111 0573051101
Clip-on panel, (19'87/32") 053.3195.600 steel, zinc-plated ) )
aluminum, anodized cutto 053.3195.990 Screw, M4x2.6 mm
size (5/32"x 1/8"), steel, 2 | 2| 011.0101.171
6,000 zinc-plated
CIip—pn panel,_ 19 87/32°) 053.3195.602
aluminum, stainless I Panel end component,
steel look cutto | nza 3195992 . 47 mm (1 27/32"), right, 1 | 057.3107.079
size aluminum, anodized
S track
pacer tracks Panel end component set, 36 mm (1 13/32"),
mm stainless steel effect
(inch) No. N
o.
2,000
Spacer track, 6 63/4") 057.3166.200 Panel end component set, 36 mm (1 13/32"), 057.3107.075
aluminum, anodized, . stainless steel look, left ’ ’
pre-drilled erlo | 057.3166.990 "
i - : Panel end component set, 36 mm (1 13/32"),
size
stainless steel look, right 057.3107.076
Panel end component set, 36 mm (1 13/32"), aluminum
0 | ©
No. 5 5
B S| 5 No.
Panel end component set, 36 mm (1 13/32"), 057.3107.074 = | 5
aluminum, left ’ ’ B
Set consisting of:
Panel end component set, 36 mm (1 13/32"), 057.3107.072 Isting °el°
aluminum, right R Panel end component,
left, aluminum, 1 053.3195.908
= | au stainless steel look
S|
D Bracker connector,
o|o No. NS ’
5l & © steel, zinc-plated 111 | 0s7.3051101
5 |
Set consisting of: o | o Screw, M4x2.6 mm
(5/32"x 1/8"), steel, 2 | 2| 011.0101.171
‘ zinc-plated
Panel end component, | 053.3195.901 P
left, aluminum, anodized
Panel end component,
Brack t right, aluminum, 1 | 053.3195.909
racker connector, 1|1 | 057.3051.101 stainless steel look
steel, zinc-plated
- Screw, M4x2.6 mm
(5/32"x 1/8"), steel, 2 | 2| 011.0101.171
zinc-plated
Panel end component,
left, aluminum, stainless 1 | 053.3195.902
steel look

130

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Panel end component set, 36 mm (1 13/32"),

plastic

No.

End cap set, plastic, anthracite

053.3192.071

End cap set to spacer track 057.3166.200

057.3162.071

55
& o No.
o &
el
Set consisting of: oo
Cover cap, left, 1 053.3192.001
plastic, anthracite
Cover cap, right, 1 053.3192.002
plastic, anthracite
Cover cap to spacer 5 | 057.0187.001
track, plastic, anthracite ’ ’
Soft close
No.
Soft close, up to 40 kg (88 Ibs.) 057.3159.073
[
N~
o
g No.
@
5
Set consisting of: o
Soft close, up to
40 kg (88 Ibs.) 2 | 057.3156.073
Release piece soft close 2 | 057.0182.101
Thread rolling rounded
head screw, M2.5x5
N 2 | 600.0000.764

mm (3/32"x3/16"), steel,
zinc-plated

Accessories

No.

7

Track cleaner, plastic, red

040.3142.071

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

'Hawa [Ze55Y 40 H

131



'Hawa [e8eY 40 H

Calculations of panels

3 Schiene/Track/Rail Schiene/Track/Rail 9
In 11
8 2
| SN
ClipblendeyClip fascia/Cache & clipser ClipblendeyClip fascia/Cache a clipser
— Schiene/Track/Rail = Schiene/Track/Rail + 7,5 %" [ 1.5
Tu
76
Soft close
| [ e
10T
Zz > 260
Y A R — | O, 1 2 Tu
e =107
Hawa Porta 40 H a2l .
Hawa Porta 40 GE 1128 11108
Hawa Clipo 26 H1S 14y 20
Hawa Clipo 26 H MS 16557 2' 12" =
Hawa Clipo 36 H1S AL AP ———C N R 2
Hawa Clipo 36 H MS 1'65'| 2' 182" | [ Hawa Porta 40 H 420|620
Hawa Porta 40 GE 376|576
v 417u| o1 4130
Hawa Clipo 36 HM IS 142" 208" | FhawaCipo26 His 420 | 620
Hawa Clipo 26 GR IS 1" 435" 21048 | | Hawa Clipo 26 HMS 458 | 658
I 5 Hawa Clipo 36 H IS 420 | 620
Hawa Clipo 36 G IS 1"43;"| 2'033, | | Hawa Clipo 36 HMS 458 | 658
20| 5 13| | Hawa Clipo 36 HM 1S 420|620
Hawa Glipo 36 GPK 15 43" 2°0%" | [Hawa Clipo 26 GRIS 420 | 620
Hawa Clipo 36 GPPK IS 1144|203 | | Hawa Clipo 36 GIS 420_| 620
Hawa Clipo 36 GPK IS 420 | 620
Hawa Regal C 26 HM IS 1" 432" | 2/ 03" | [ Hawa Clipo 36 GPPKIS 420 [ 620
23 | 2115 Hawa Regal C 26 HM IS 420 | 620
Hawa Regal C 26 GR IS 133 | " 18" | [Hawa Regal C 26 GRIS 400 | 600
B = (=] (=]
e o)(© [(e) [
10
> 460
= 6%
z
Accessories Planning/execution
— Lock solutions from page 479 Further information about the product can be
— General accessories from page 487 found on www.hawa.com.

132 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



